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# LP : Geometric meaning of zeroes and polynomiails :



# LP : If one of the zeroes of the quadratic polynomial
(k+1)x*+kx+1 is - 3,, then the value of ‘k’ is :
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X% Relation between zeroes and coeff' cients of Quadratic

polynomial : C[D:,ﬂ
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# LP : Find the zeroes of the quadratic polynomial and w k

the relationship between the zeroes of the coefficients .
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# LP : Find the zeroes of the following quadratic polynomial :

./ 3x°+10x + 7/ 3 & . x2+%~f<2x -6
[32°+ 1o+ 43 ¢ 4 SYENN
K/“ff}ﬁ)
A pPrtItFx +13 Q*q« , Al
I GCIORNIIEG vt

v ([31“"9 (7\+J_':5) =0

«f/')(-r?t:o Ktlz-o 4
L\ e A




30> Gugd I Gueshon 3 zewes T g7 B A GOR ZP0R Side F 1L X
— - : — afﬁ\*’ﬂ“"

# LP : If a and 3 are the zero lynomia

f(t) = t2-4t+3 , then the value of a BFaBlis: -
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#LP:If a, B are the zeroes of the polynomial
f(x) = x2- p(x+1) ¢ = 0 such that (a+1) ( B+1) = O then find

the value of ¢ ?
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# LP :If a and 3 are the zeroes of thg polynomial
f(x) = x = 6x + k, find the value of‘a2+ 32= 40
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# LP : If one zero of the polynomial 3x - 8x + 2k + 1is seven
time the other, find the value of ‘k’.
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# LP : Find a quadratic polynomial where zeroesare 5 -3/ 2

andlS * 3/ 2 w, Qud By is
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# LP : If a and B are the zeroes of the quadratic polynomial
f(x) = x* x - 2,find a polynomial whose zeroes area 2a + 1and
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# LP : Find a quadratic polynomial whose zeroes are
reciprocals of the zeroes of the polynomial f(x) = ax + bx +c.
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@e zeroes of the polynomial x2 +px+q double values to the
zeroes of 2x* 5x - 3, find the value of p and q.
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#LP: Assertion (A)(2 -/ 3) is one zero of the quadratic
polynomial then other zero will be (2 +/ 3@
Reason (R): Irrational zeroes always occurs in pairs. @

4 (Q'B TM‘B) A 3\ R — hoth e




N ’; a = : . ) V’

COODIES &.



